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1. Choose the correct answer (any ten) : 1x10
(a) Which of the following methods is based on the Rule of Exportation?

() Truth Tree method (i) Method of Indirect Proof

(i) Method of Conditional Proof (iv) Method of Existential Conditional.

(b) In which method of proof the antecedent of the conclusion is taken as an additional premise?
(i) Method of Indirect Proof (i) Method of Conditional Proof
(iif) Method of Existential Conditionals - (iv) Truth Tree method.
(c) Which of the following is not true of Truth tree?
() Truth tree usually starts with a negation
(i) Truth tree is a decision procedure
(ii)) A truth tree is valid if all paths are closed

(iv) Truth tree does not allow double negation.

(d) In Truth Tree method — (p & q) is transformed into

(1) Trunk statement (i) Branch statement

(iii) Both trunk and branch statement (iv)- None of these.
(¢) Who is the main exponent of truth tree method?
(1) William Jeffrey

(i) Irving M. Copi
(i) Richard Jeffrey

(iv) George Boole.
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Which of the following is true of an empty set?

(i) Empty set is a subset of all sets

(i) There is only one empty set
(iii) Only an empty set can be a subset of an empty set
(iv) All of the above.

(g) If Set A= {1, 2, 3}, then how many subsets of Set A is possible?
@ 5 (i) 6
i) 7 iv) 8
(i) (v) MURALIDHAR GIRLS coy g EeE
(h) What is expressed by the symbol c? LIBRARY
(i) Inclusion (i) Membership
(i) Intersection (iv) Union.
(i) (%) (x € A — x € B) — This is the symbolic definition of which of the following?
(1) Identity (i) Inclusion
(i) Membership (iv) None of these.
() In the context of Boolean Existence Schema, the sentence, “No European Swans are black”.— is
symbolized as :
(Where E = European, S = Swan, B = Black)
(i) —JESB (i) —3IBSE
(iii) —3SB (iv) 3JESB
(k) Which of the following is the correct form of Law of Existential Distribution (LED)?
@) 3IFG=(3F-3G) () 3(FvG)=(3F viG)
() —3(Fv G)=(-3F v-3G) (iv) —3dFG=(-3F- -3G)
() What is the truth functional statement constituted of Boolean existence schema or the negation of
it called?
(i) Boolean term schema (i) Boolean equation
(ili) Boolean statement schema (iv) None of these.
2. Answer any five questions : 5%5
(a) Explain the relation between method of conditional proof and method of indirect proof with the help
of examples.
(b) Distinguish between counterexample and model for consistent set in the context of truth tree with
examples.
(c¢) Determine with the help of truth tree method whether the following sets of sentences are equivalent

to each other :
(i) =(A—>B) and A & -B
(i) A>B and -A — -B
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(d) What is wrong with the following argument?
Socrates is a man. Men are numerous. Therefore, Socrates is numerous.

(e) Translate into set theoretical language :
(i) The Apostles are twelve. (R GIFLS COLLECE
(ii) Planets are luminous. MURA \LIDHA LIBRA RY
(i) Some Americans are philosophers.
(iv) All coffee drinkers drink either tea or wine.
(v) There is gnouniform that is not made of velvet.
193110 (i) ,Dlstmgulsh among transitive, intransitive and non-transitive relations with the help of examples.
(g) Test the validity of the following argument with the method of existential conditional :
Some F are G or some F are H. Therefore, Some F are G or H

(h) Show that EIO is valid in 1st and 2nd figure by the method of existential conditional.

3. Answer any two questions :
(@) (i) What is the relation between method of conditional proof and the rule of exportation?

(i) Give the conditional proof of validity of the following arguments :
(1) (ToE).(A>L)/..(T.A)D(E.L)
(2) Qv(R>S), Ro®R.SH=2(Tv), (T2Q).(USV)/.QVvV
(iii) Use the method of indirect proof to verify the following as tautology :
(A>B)v(A>~B) 4+(3+4)+4
(b) . (i) State any three rules of constructing a truth tree.
(i) Test the validity of the argument with the help of truth tree :
Moriarty is guilty. Moriarty is not guilty. Therefore, Holmes is on the job.
(i) Test the validity of the following statement with the help of truth tree :

A= (B—>A)
(iv) Are the following sentences consistent? Test with Truth tree method.
-pvq, pv=4 -pv-q, —(pva 3+4+4+4

(¢) (i) What is the principle for extensionality for sets? Give its symbolic form.
(i) Which of the following statements are true for all sets A, B, and C?
() If AcB and B € C, then BcC
(2) If AeB and B=C, then A eC



(d)

(iii)

(iv)

(iD)
(iif)

(iv)
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Write short notes on :
(1) Domain of individuals
MURALIDHAR GIRLS' COLL
(2) Complement of a set LIBRARY EGE

Find the following :

(D) AN A{A} () {AYN{A} B) {A (A} ~{A), () {A {A}) ~A 3+a+a+d
What is existential conditional? Give an example.

Show with the method of existential conditionals that BRAMANTIP is invalid.

Tes|t Eh&ﬁo_ll_p&y\igg,sqhemata for validity by the method of existential conditionals :

(1) IR oiBEFG v IG v GH)

(2) 3GJ-3GK .o.3(FGH v FIv HK)

Explain the validity rules of Boolean statement schema as stated by Quine with
examples. 2+4+4+5
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"‘}f.: ‘Chorcr)gfe:tgqéor?gcto}tlbn : (any ten) : m'ug?ggr}gi COLLEGE_-‘ 1x10
(2) Which one is the object of discussion of ethics?
(i) Social system (i) Human conduct
(iii) Duty (iv) Reason.
(b) Which of the following concepts, according to Moore, can be defined?
(i) Yellow (i) Horse
(i) Good (iv) All of these.
(¢) Which one of the following is not considered as the postulate of morality?
(1) Personality (i) Reason
(i) Freedom of will (iv) Intuition.
(d) “The meaning of a moral statement is prescriptive.”— Whose opinion is this?
(i) Kant (i) Ayer
(iii) - Moore (iv) Hare.
(¢) In Aristotle’s view, the virtues are—
(i) innate (ii) acquired through habit
(iii) given by God (iv) accidental.
() “I want you to speak the truth.”— This sentence, in moral language is called
(i) Prescriptive sentence (i) Descriptive sentence
(i) Emotive sentence (iv) Naturalistic sentence.
(g) Who admits the immortality of soul?
() Kant @) Aer
(iij) Hare (iv) Moore.
(h) What is the name of the ethical doctrine of Hare?
(i) Intuitionism (ii) Prescriptivism

(i) Eudaemonism (iv) Utilitarianism.
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(i) The object of moral judgement according to virtue ethics is
(1) teleological actions (i) actions determined by duty
(ii1) “good character traits (iv) None of these.
() “Ethical statement is emotive."— Whose view is it?
(1) Ayer (i) Moore
(i) Hare (iv) Aristotle.
(k) Which of the following has a moral value?
,q(i\)-}liq;)f}»eyu.a.:‘» SRR, @) poetry
';'(fii).;'pigésiune: (iv) Keeping promise.
() A representative of Emotive theory is
G Ayer (i) Hare MURALIDHAR GIRLS’ COLLEGE
(i) Mil (iv) Kant. EOSART
2. Answer in brief (any five) : 5%5
(a) What do you mean by metaethics?
(b) In what sense is freedom of will considered to be a postulate of morality?
(c) Is honesty the best policy in Kantian interpretation? — Discuss.
(d) Explain Plato’s view regarding virtue.
(e) What are the main tenets of intuitionism?
(f) Discuss the nature of moral scepticism.
() What is naturalistic fallacy?
(h) Are moral propositions purely descriptive? — Discuss.

3. Answer any two questions :

()

(b)
(c)

(d)

Explain and examine the following statements :

() The language of Ethics is emotive.

(i) The language of Ethics is prescriptive. 8+7
What are the postulates of morality? Why does Kant consider the existence of God as a
postulate of morality? 5+10
What are the different kinds of virtue admitted by Aristotle? How does he relate the division
of virtue to the division of human soul? Discuss. 3+12
What is value? Is value subjective or objective? Discuss critically. 3+12
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1. Choose the correct option : (any ten) : 1x10
\ (@) Sakti, according to the Nyaya school is
() qualitative entity (i) substantive entity
(i) negative entity (iv) none of these.

(b) ‘Sakti is a separate category over and above the seven categories accepted by the Nyaya-
Vaisesikas.’— Whose view is this?

() Mimamsaka (i) Naiyayika
(i) Vaisesika (iv) None of them.
(c) An example of rudha pada (word) is
(i) the word ‘plant’ (i) - the word ‘cow’
(i) the word ‘lotus’ (iv) the word ‘cook’.
(d) According to Nyaya, vritti is of
(i two types (i) three types
(iii) four types (iv) five types.
(¢) Which one is not regarded as the cause of sabdabodha (verbal understanding)?
(i) the knowledge of vritti (i) the knowledge of sannidhi
(iii) the knowledge of similarity (iv) the memory cognition of the meaning of the words.

(f) Tatparya is the—
(i) intention of the speaker (i) intention of the listner
(i) intention of both speaker and listner (iv) none of these.
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(2) According to Annambhatta the word ‘Pot’ by its Sakii refers to
(1) the universal pothood
(ii) “the individual pot
(i) the individual pot as characterised by the universal pothood
(iv) none of the above. AR GIRLS COLLEGE
MURALIDHAR ETCay

(h) The supporter of Jatisaktivada is
(i) Naiyayika (i) Bauddha

(ii) Mimamsaka (iv) Vaisesika.

() ‘Banhina sinchati’ (watering with fire)— in this sentence which of the following factor is absent?

() akamksa (i) yogyata
(iii) sannidhi (iv) tatparya.
() Kumarila Bhatta is the supporter of
(i) anvitabhidhanavada (ii) Karyanvitabhidhanavada
(i) abhihitanvayavada (iv) none of these.

(k) The term ‘Ganges’ refers to the bank of the Ganges by
@ Saktivrtti (i) laksanavytti
(i) Vyadijanavrtti (iv) gaunivriti.

() Vyadijanavytti is accepted by

(i) Naiyayika (i) Mimamsaka
(iti) Alamkarika (iv) All of them.
2. Answer in brief (any five) : 5x5

(a) Discuss after Tarkasamgraha, akaimksa, yogyata and sannidhi.
(b) What is gaunivrtti ? Does Annambhatta accept it as a distinct vi#fi? Give reasons.

(c) ‘dAnvaya anupapatti laksanavijam’ and ‘Tatparya anupapatti laksapavijam’~ what is the
difference between these two doctrines?

(d) “Sabda is not a distinct pramana.”— How does Annambhatta refute this view?
(e) What is meant by Vyafjanavytti? Write briefly.

() Discuss the main tenets of anvitabhidhanvada.

(g) Discuss the distinction between Jjatisaktivada and akrtisaktivada.

(h) Can fatparya be regarded as a cause of Sabdabodha (verbal understanding)? Explain.
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3. Answer any fwo questions : MUR AUDH_&B;{P*RY

(a) (i) What is laksana?
(i) Distinguish between Sakti and laksana.
(ii) Discuss with examples, the different kinds of laksana.
(@iv). Is ‘gaupi’ a kind of laksana? Explain with example. 2+4+6+3

(b) (i) Discuss the definition of Sakfi as given in Tarkasamgraha and Dipika. Why has
Annambhatta changed the definition of Sakti in Dipika?

(i) What is meant by the word ‘Pot’ through its Sakti?— Discuss in this context the views
of Mimamsakas and Annambhatta. (5+4)+6

(c) Explain abhihitanvayavada with example. 15
(d) (i) Explain the laksana (definition) of pada (word) according to Annambhatta.
(i) Discuss with examples the different kinds of pada. 5+10




